Order of Operations (A)

Perform the operations in the correct order.

L6—6x(9—9)+1+(2x6) 6. 10-9+6+7x1+1+1
2.8+44+6—-4+(3-2)=1 7.1 Xx6+3+2x9+(10—1)
3.9%2+(1+1)—(3+49) =1 8. 1% (6—5)x2—1x8+4

4. (442-6)+7+(2+(6+3)) 9.8+2+(6—4)—(8—(9-3))
5.3—(6-4)+10+-10+8—4 10. (1—1)+(4+24+64+4-2)
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Order of Operations (A) Answers

Perform the operations in the correct order.

. 6—6x(9-9)+1+(2x6) 6. 10—-9+6+7x1+1+1

. 8+44+6—-4+-(3-2)+1 7.1x6+3+2x9+(10—1)
=4 =1

IX2+(1+1)—(349)+1 8. Ix(6—5)x2—1x8+4
= :O

0. 8+02+(6—4)—(8—(9—3))
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3—(6-4)+10+-10+8—4 0. (1—=1)= (4=2+6+4-2)
=6 =0
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Order of Operations (B)

Perform the operations in the correct order.

L 4+1+(10-9)+10+2+1 6. (8+(5-3)+3)x7+7—4
2.10+10—(1—-7+7) x2x2 7.4x(5+5+1)+5—(3-2)

3 (1x6+248-7)+2+43 8. (7T+1410)+ (10 (10= (4+4)))
16+ (4+((8=2)+(343))+4) 9.2x(9—9+1+9—4-5)

5. (643) =3+ ((8—6) x9+6) 10. 10+ (1 48+ (10+ (10+2) = 1))
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A4+-1+(10-9)4+10+2+1
=10

(Ix6+24+8-7)+2+3

Order of Operations (B) Answers

10+-10—(1=7+7)x2x2 7. 4 X
=1

1

=35

1R

Perform the operations in the correct order.

6. (8+(5-3)+3)x7=+7—4

8. (7;rgl+10)+(10+(10+(4+4)))

(4+((8—2)=(3+3))+4) 9.2>6(9—9+1+9—4—5)
ik3)+3+((8—6)><9+6) 10. 102+(1+8+(10+(10+2)+1))
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Order of Operations (C)

Perform the operations in the correct order.

L (446)+54+2x3+6+6 6.9+ ((1x8—(3x3—2))x9)
2.8+ (4—(1—1)) x (4—(2—1)) 7 1x6+1—4x(14+7-7)

3 3-3)+((14+2+2)x(7-5)) 8.2x1X1x4x1x4+2

4 5%x4+5%(3-2)—9+3 9. (8—5x1)x2—T7+(7+1)
5.5+ (7T—(442))x (9—1x5) 10. 1x4—(1x(44+3)—7)+8
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Order of Operations (C) Answers

Perform the operations in the correct order.

1. (44+6)+54+2x34+6+6 6.9+1((1><8—(3><3—2))><9)
:9 pum—
2.8+(4—(1-1)x(4—(2-1)) 7.1><26+1—4><(1+7—7)
:6 pu—
3.3-3)+((14+2+2)x(7-9)) 82X 1X1Ix4x1x4+2
=0 =16
4.5x4+5%x(3-2)—9+3 9. (85—5><1)><2—7+(7+1)
—1 =
5.5+ (7T—(442)) x (9—1x5) 10. I x4—(1x(4+3)—7)=8
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Order of Operations (D)

Perform the operations in the correct order.

2x2+1—(9+3-2)-2 6.8+ (6+6)—(10—(10—5+5))
9+9x(10—6) x5+4+5 7. (544) x2—(10—9) — (5+9)
Ix8+(2+(9+3-2+1)) 8. (7+10) x (7—7)+8+7+3
10+ (4—4+10—(8—(3-3))) 9. (1—1)=10% (6+4+8—8)
8+ (1x3+(8-5))—6=1 10. 10+ (6—2+1-2)x4x1
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Order of Operations (D) Answers

Perform the operations in the correct order.

2x2+51-(9+3-2)-2 6.8+8(6+6)—(10—(10—5—|—5))
=1 =

L 9:9x(10—6)x5+4+5 7.

1ROy

;4)><2—(10—9)—(5+9)

Ix8+(2+(9+3-2+1)) 8.
— 4

I3

+10)x (7—7)+-8+7+3
0

.105+(4—4+10—(8—(3—3))) 9. (10—1)+10><(6+4+8—8)

8- (1x3=(8—5))—6=1 10, 10-(6—2+1-2)x4x 1
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Order of Operations (E)

Perform the operations in the correct order.

L B3x6+1-7)+(8—(4—-2)) 6. (9+7)x1x9+(9+3x3)

2. (94+5)x(2—-2)x5+5+9 7. (10—2+1)+((3—-2) x4 x2)
3.10—(2-2)+=(10+3-7)+8 8.9+(7+7)=+(44+1+2+4+2)
4.6 —-64+3+8x2—-8x2 9. (7—7)+8x9+((74+2)+3)
5.3+24+742-8—-(3+1) 10.4+1+(4-2)+8x1+2
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Order of Operations (E) Answers

Perform the operations in the correct order.

L B3x6+1-7)+(8—(4—-2)) 6. (9+7)x1x9+(9+3x3)
=2 =16

2. (:9;5)><(2—2)><5+5—|—9 7. (:1(1—2+1)+((3—2)><4><2)

3. 1:01—0(2—2)+(10+3—7)+8 8. 9:+1(7+7)+(4+1+2+2)

4. 6:—36+3+8><2—8><2 9.(:70—7)+8><9+((7+2)+3)

5. 3:q;2+7+2—8—(3+1) 1o.i+1%+(4—2)+8><1+2
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Order of Operations (F)

Perform the operations in the correct order.

L. 44+4—-((34+6)+1-9)+2 6. (4—4)x(2—4+4x2)+6
2.6x(5—5)+(1x2x3x1) 7.10+5%x(9-9)+1+3=+3
3.5%(4—3)—(10—6)+(2—1) 8. (84+9)+1—(10—(10—8))—2
4. (3=3)+=5x(5+5+7)+1 9. (1+6)=(1x1)+9+9—1
5.1 x3—-1+7—-2+6—-4 10. 2+1x9+-6—(8—5)+3
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Order of Operations (F) Answers

Perform the operations in the correct order.

1.145—34—((3+6)+1—9)+2 6.(:40—4)><(2—4+4><2)+6
2.6x(5=5)+(1x2x3x1) 7.10+5%x(9—-9)+1+3+3
—0 =0

35:><1(4 3)—(10—6) = (2—1) (:;r )=1—(10—(10—8))—2
4.(:363)+5><(5+5+7)+1 9.(:1;6)+(1><1)+9+9—1
5.1:><93—1+7—2+6—4 10.2:+21><9+6—(8—5)+3
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Order of Operations (G)

Perform the operations in the correct order.

1 (8—8)x6+3+3+(10—4) 6. 4+1x2+1+(2x4+8)
2.3+ (6+(64+10+10—-9+9)) 7. (T+7+1-4)+(2x1+1)
325 1x4—(4—(2+4)+2) s, (8+4x2+2x1—8)+4
£5-146+(9-6)x1-3 9. (1X5—5)+8+(8+(8+4))
5.5—1+(8<(147))x6+6 10.7—(8—(4—4)) = (2x2=1)
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Order of Operations (G) Answers

Perform the operations in the correct order.

1. (8—8)x6+3+3=+(10—4) 6. 4+1x2+1+(2x4+8)
=0 =8

2. 3:+3(6+(6+10+10—9+9)) 7.(:7;F7+1—4)+(2><1+1)

3. 2:+1><4—(4—(2+4)+2) 8.(:8;r4><2+2><1—8)+4

4. 5:—31+6+(9—6)><1—3 9.(:1><5—5)+8+(8+(8+4))

5. 5:—41+(8+(1+7))><6+6 10. 7:—(8—(4—4))+(2><2+1)
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Order of Operations (H)

Perform the operations in the correct order.

. 8—3—4—(6—4+4)=5 6.6+10—1x(7—(3—1)—3)

2. (7=5)+=(6+6)—(2—1)) x5 7. ((9=2) x2—5) x (9—6—3)
3846 (3+1x9)—2x1 8. (247)+(742)— (3—(10=7))
4 (10410—9) = (1 x 1+10+1) 9.9—64+4+1+1x10—9

5. (10—10) = (6+4+1x1)+9 10. 1052+ 1x7+(9—4x2)
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Order of Operations (H) Answers

Perform the operations in the correct order.

8—3—4—(6—4+4)+5 6.6+10—1x(7—(3—1)—3)
=0 =14
.g75—5)+(6+6)—(2—1))><5 7. :(90—2)><2—5)><(9—6—3)
.8;66—(3+l><9)—2><1 8.(22T7)+(7+2)—(3—(10—7))
':1?+10_9)+(1X1+10+1> 0.9 645 141x10-9
.(:1(())—10)+(6+4+1><1)+9 10. 1:01+22+1><7+(9—4><2)
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Order of Operations (I)

Perform the operations in the correct order.

Tx (84 (1x5—4)—4)=4 6.3—24+3x2+6+(10—4)
X (10=(545)+(7—-10+2)) 7. (4+1—4)=10—(8—8)+2
8+ (1x(8—(7—343))x2) 8.4+2+(5+8+2)+9+7
2x841+(8+8)x(10—9) 9. 143+1+10—4x1+3
(9—1)+(84+2—4x(8-6)) 10. 84 (3-3) = (9+8—(1+4))
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Order of Operations (I) Answers

Perform the operations in the correct order.

Ix(8+(1x5—-4)—4)+4 6.3—824—3><2—|—6+(10—4)
.1><5(1O—(5+5)+(7—10+2)) 7. (40+1—4)+1O—(8—8)+2

8+(1x(8—(7—3+3)) x2) 8. 4+2+(5+8+2)+9+7

2x8+1+(8+8)x(10—9) 0. 143+1+10—4x1+3
(9-1)+(8+2—4x(8—6)) 10. 84+ (3—3) = (9+8— (1+4))
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Order of Operations (J)

Perform the operations in the correct order.

542—-(10+10+1+1+3) 6. 4+8+(9+1—-8)+(8+4)
Ix9+(8=4—(3—-1))+2) 7.2x9+(8-7+2+(8+8))
T4+6+3—-(5-1—-(8-17)) 8.3+3+9-2+3+(2+2)
9-2+410-2x4+4—4 9. 1x2+((54+3)+(4+9-5))
Ix10x(10—-8)=(9—1-17) 10. 2+(7—6)+2x5x2x1
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Order of Operations (J) Answers

Perform the operations in the correct order.

542—(10+104+1+1+43) 6. 4+8+(9+1-8)+(8+4)
=2 =13

.1><99+((8—4—(3—1))+2) 7. 2_><69+(8—7+2+(8+8))

74+6+3—-(5-1-(8-17)) 8. 3+3+9—-2+4+3+(2+2)
=13 =11

9-—24+10-2x4+4—4 9. 1x2+((54+3)=(44+9-5))
=9 =2

1x10x (10—8)=(9—1—7) 10.2+(7—6)=2x5x2x 1

Math-Drills.com




